Name: ____________________________________  Hour: __________________

Issue One: How Should the States be Represented in the New Government?

    One of the main sources of conflict at the Constitutional Convention was the disagreement 

    between the large and small states over the way they would be represented in Congress.

    After reading 8.5 (page 109) fill in the chart below listing the details of the Virginia Plan and 

    the New Jersey Plan.

	Virginia Plan
	New Jersey Plan


	_____ Braches of Government

· Legislative:

· Executive:

· Judicial:


	_____ Braches of Government

· Legislative:

· Executive:

· Judicial:




Convention Issue Number One
How should states be represented in the new government?

Option A – The number of representatives a state sends to Congress will depend on the state’s population.
Option B – Each state will have equal representation in Congress, regardless of the state’s size.

Option C – The number of representatives a state sends to Congress will depend partially on the wealth of the citizens of the states.

Constructed Response:

(Write your response as if you are the delegate that you are portraying during the convention. Please include a topic sentence, supporting sentences, and a concluding sentence. Make sure to write in complete sentences.)
Delegate’s name: ________________________________

Looking at Issue 1, what did your delegate decide? Be able to support why your delegate decided that way.  Give details from section 8.5 to support your answer.

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

Compromise?

Come up with a possible compromise that would please both sides on this issue.  Explain why this compromise would work.

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

Resolution: The Great Compromise (8.6)
Essential Question: What compromise did the delegates create to resolve the issue of state representation?

Answer the following questions:

1. Who wrote The Great Compromise? _____________________________

2. What were the details of The Great Compromise? 

        Congress would be made up of _____________ houses. The lower house also known as 
the first house would be called the  __________________ of _________________ and 
represents the ____________. Representatives would be _________directly by the 

____________ vote. The ___________ of representatives would depend on the 
_________________ of the state.
       The upper house also known as the second house would be called the _____________.

The _____________ would be elected by the ______________ legislatures and each state 

would have an _________number of ______________ to represent them.

3. Why did the big states and the small states agree to The Great Compromise?


Because with the compromise both the ____________ and ____________ states

were ____________ represented, since all states sent _________ senators to serve in the

_______________ and the number of representatives to the __________ of _____________

was based on _________________. Not all of the states were ___________ but it was the

best ___________________ the convention could create  to keep unity.

